FHERRLZ (AR01)
TH4 | R2ME EE/MaBE GRaix) /-l #rLF HEX Sy PRI HE ity
THEXS - R
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
R ERE - Yy
= 1
FeptT
= 1
+T
= 1
PRHE
m3 3, 386
HREL
m3 400
DT
= 1
LA
m3 2,902
SR A L
= 1
SR
m3 1,506
Ly RN
f2 = m2 146
AR L
WD m2 157

=N

pi



FHEFRFER (R01)
T4 | R2{E+: EE/IMRAEE (Ratx) /h-FiHs #FE1LE HFEX P
THRKS | R A
Ty - T - ) - ) Wi Wi | Wk (WD B (5] BRI prese
BasL
- m2 554
A
m3 1,424
Wt UBA ty=b
m2 1,093
g - AR[E T
A 1
WA L
A 1
WA
m3 544
e L
_— m2 268
WL
WS o .
WL
K . »
o E
m3 544
M Ew I E L
A 1
o R




FHERIER (A01)
TE4 | R2MtE ME/IRERE GRaHX) /-FilHE #F1F = —
THRKS | R A
A<Dy - LA Fal - ke Wi | R (E) | B (G R e
gL L
A 1
) - MEE L
m3 478
SV AR U =
m3 478
Can
A 1
IRRRIE R T
A 1
IR B B
e 2 " s
4
m3 1,041
WHEAT
= 70
T A
m3 1,041
W H LB IR Y- %
2 08
BT
A 1
o B




=Ry

IEI\’(L\\

fhze (R01)

J_L:i E:I‘/‘\
TH4 | R2ME EE/MaBE GRaix) /-l #rLF HEX Sy PRI HE ity
THEXSy - SREE - W
THX 5y - TAE - 85 - A5 Biks HAL i (ilAD) e (4m) KR S
e Exk
= 1
SIS T
= 1
Y
= 1
SRR e L
nY)” 7-hBH 2V 1
Y%
= 1
RIARSER
m2 1,516
FEEHE RS I R
= 1
pSERERC NI
= 1
=7 ny)
& 6
ASeY
= 1
AR
M AH 85
- TR I




1.5

R

B hER (A01)

TH4 | R2ME EE/MaBE GRaix) /-l #rLF HEX Sy PRI HE ity
THEXS - R
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
LARR
AEEFE R AH 64
SR R AR
km 3.5
HomfErE (FEL)
= 1
S ¢
= 1
Bl E P
= 1
T
= 1
— A PR
= 1
TAfiA%
= 1
THEBIRE K O 5 1 e B
= 1
TR
= 1
5 - 8




